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(A) S|n30°
(B) sin60°
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10.

1 ABEAHE

LR ()

o E B R H20cm kT ¢ : gk

Xi B & 10cmen A < = ¥ > LR LA X2 ¥ o B ¥k

fr o & F 7
(A) 3000cm?
(B) 4000cm?®
(C) 5000cm?®
(D) 6000cm?

— %ﬁ‘%"iﬁ{)ﬁ‘%ZOma = f?'lﬂ%f!i‘l:.Aé._ J";'ii 3 qé"?lf"ilﬂé:'B%'-
fd s FWE L G- £ 15 T 2359 A G £ 10kgf/m o 7l
B gw 4 EE 2l bR ?

(A) 1000kgf/m > =
(B) 1000kgf/m » + i

(C) 2000kgf/m > = B zh 2
(D) 2000kgf/m » +

HAL AEME TR PN o EME R
(A)F £ /4% #

(B)* /o i

C) &+ &%

(D)l » & % /dh v & %

- B FFE L 15me B f2em o £ £ i # £ 0.15ecm > @] v T &
0.00048cm @ R & # 2§ 41t (Poisson’s ratio) = #® ?

(A) -0.24

(B) 0.24

(C) -0.30

(D) 0.30

¢ dv - o s 2 BEEE=13GPa > F v v=0.3 Bl H R D
T4 f (W ) S e ?

(A) 5.0GPa
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